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NEB-GRADE XII
2080 (2023)

Mechanics of Structure
(New Course)

(For technical stream’s regular student whose two digits of
registration number start from 79)
Candidates are required to give their answers in their own words as far as
practicable. The figures in the margin indicate full marks.

Time: 2 hrs. Full Marks: 50
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3. ' ) : 4 alaxis is

and write in terms of coordinates:
(A)(6,3) (B)(3,195) 3m

(©) (6,15) (D) (6,2)
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7. A truss structure consist only... force members. 6m
(A) only one (B) two (C) three D) poly
8. Poisson's ratio of steel is..
(A) 0.20 (B) 0.30 (C)0.40 (D) 0.50
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9. For a rectangular beam, maximum shear stress is ... times the average
shear stress.
(A) 2.5 (B)3 (C)1.2 (D) 1.5

Group 'B' 3x5=25
10. Check the determinacy of the truss given below.

16. The cross-section of a machine part is as shown in figure below. Determine
its moment of inertia and radius of gyration about 0
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the horizontal centroidal axis. I
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